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Number of Questions: 50
Display Number Panel: Yes
Group All Questions: NoO

Question Number : 1 Question Id : 6780944404 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the traces of A and B are 20 and -& then the trace of (A+B}is

Options :

12
-~
- 28

28

[

Question Number : 2 Question Id : 6780944405 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

¢ 1]
10

It 4= s an Invoiutory matrix then x=

Options :
1 0
y =i
. —~1
d, -

Question Number : 3 Question Id : 6780944406 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The determinant of |loge® lozes logs | is

o
loge”  loz o log e

Options :

3

Hoge

L

Slog e

Question Number : 4 Question Id : 6780944407 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

11D
T 4=:2 |
D1

.
" — —

then det(wdidl =

M

1.}

Options :

1 det A
1

_det 47

—dlatr 4

!—'J

([ det A )'
4.

Question Number : 5 Question Id : 6780944408 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f A B are two matrices and AB=B. BA=A then 4~ + B~ =

Options :
1 A+E
 A-B
: AL

;U

Question Number : 6 Question Id : 6780944409 Display Question Number : Yes Single Line Question (dntion : Nn Ontion

Orientation : Vertical
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| Cthen - —-FE =

1 —

| ¥ —i-lfJ{_lT:' +3y N+l Z2ym+ 3

If

Options :
3.

1.

.

2

5

Question Number : 7 Question Id : 6780944410 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AR k. 1 .
| = | theh «:b=
(y—aldxy—86) a—a x-=9D

If

Options :
_
=2

R |

12
3.

Aol
4

Question Number : § Question Id : 6780944411 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of ran&357 =

Options :
1

i

—.

I

J2

Question Number : 9 Question Id : 6780944412 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 il ) %
1T taner = and tan & = then ranle+ 1=

e REIFETY

Options :
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Question Number : 10 Question Id : 6780944413 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of Guin 209 —=8«gin™ T0% =

Options :
1. 2
i
NG
NE
3.
|
&
4

Question Number : 11 Question Id : 6780944414 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If Aei@4+dcosf =5 then the value of 4sm & -3¢0z 8=

Options :

U
-

3. ]
2

Question Number : 12 Question Id : 6780944415 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The sine function with peried 3 is

Options :
)
SIE

1. 5
. A
SEET

;)

. ;
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Question Number : 13 Question Id : 6780944416 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum value of 3sin= = Scea- v S

Options :
a!

1.

. 3

v O

.

, 34

Question Number : 14 Question Id : 6780944417 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The eguation J3snx+cosy=4 has

Options :
1_ Qnly one solution
~ two solutions

. Infinite solutions
, no solution

Question Number : 15 Question Id : 6780944418 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

: ) _ _ _ L.
The solution of Cos™ (31 )+Cos o =2 is

Options :
|
-
1.
1
v
1
-
3.
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Question Number : 16 Question Id : 6780944419 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

The value of sin&+sunf +120%) —sh1120° - &)1 =

Options :
1. D
SIEE

'I

I

— 111 7

Question Number : 17 Question Id : 6780944420 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The principal solution of 3 osecA =451mA 13

Options :
1.
T ;
i

mN
: 4
a.

+i7
4.

Question Number : 18 Question Id : 6780944421 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=

: 1 . .
If |-- —1 =\:‘ + 1. then z lies in

Options :
1 The real axis
3 clicle

The Imaginary axis

Lo

a parabola
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Question Number : 19 Question Id : 6780944422 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

(1477 (1= .
If \ — o +{5. then & an b are
. ] —7

SESN

"mm pm, =

Options :

K
2,-2

% {.-2
0.-1
1,

Question Number : 20 Question Id : 6780944423 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

If the line +=2v+ris atangentic +~ — -~ =< then the value of ¢ is

Options :

y 2

L

L

3
=
5

Question Number : 21 Question Id : 6780944424 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The vertex of the parabola v~ +8x+121+4=0is

Options :
[—. 1)

1.

04—

) —4.—1]
W)

4

Question Number : 22 Question Id : 6780944425 Display Question Number : Yes Single Line Question Option : No Option

Orilentation : Vertical
The number of tangents to the ellipse : : '1: =1 through (2.1} 1s

Options :

. O
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Question Number : 23 Question Id : 6780944426 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

The fength of the latus rectum of the hvperboia »- — 2y =4 s

Options :
, 2
O
3. 4
. <

Question Number : 24 Question Id : 6780944427 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of the ditameter of the circle ¥ "-_Tj —Gr—81 =0 Ii5

Options :
.10
5 10
5 9
, 20

Question Number : 25 Question Id : 6780944428 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the line 21 =%y +/ touches the parabola - =6+ then k=

Options :

SER

r_;_.l_l__

L
|

| S

4.
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Question Number : 26 Question Id : 6780944429 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

[r113 =
I— e 3 —

Options :

]
-

gy £
g

Question Number : 27 Question Id : 6780944430 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

If Ffixvi=il+=x1% is continucus ai v=10 then =

Options :
2
1 °
.
- &£
{Jj
30
1
4 £

Question Number : 28 Question Id : 6780944431 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

()
If v =agsecH v=htrand then — =
Ty
Options :
£
— e G
[
£
—oosec &
5 i)
¥
— 20 7
£
2.
%
cosec
Iy
4.
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Question Number : 29 Question Id : 6780944432 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ey

. o i
If v =¢" then — =

)
Options :
logx
1 1+ 1loex)”
log
o -logx)
—log x
. - o
il+logx)-
]
—1
.
) (1+lozx)-

Question Number : 30 Question Id : 6780944433 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f +=sin "

Options :

-
1+ 3~
1.
|
L+
B,
ﬁ 143
.
a5
[ + 47
g

Question Number : 31 Question Id : 6780944434 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T
The slope of the normal to the curve y=asecf. v=gtand at #=— I8
3

&
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1.

0
1L

L

Question Number : 32 Question Id : 6780944435 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The rate of change of area of a circle with respeact to radius when r=5¢m Is

Options :
27 sg.omisec

107 sg.cmisec

1T sg.emisec
£

2Uxr sg.emisec
4.

Question Number : 33 Question Id : 6780944436 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vihich of the following function has maxima or minima®?

Options :

I. n
l..
L

1.

low

L=
—
1

Gt a4

S31% 8
4

Question Number : 34 Question Id : 6780944437 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the Increase In the side of a square 1s 2% then the approximate
percentage Increase In the area of the square Is

Options :

| 2

-
1

e

4
b
-

4
&
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Question Number : 35 Question Id : 6780944438 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
& 7

For the function #i{x)=log’>" + 73 which of the folowing is true?

Options :
T =
ot £ =0
1.
?t.‘{_’- ) "TJ:' = {}

e

¢ ﬂ‘ - f o 2

Question Number : 36 Question Id : 6780944439 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

| cosac” Beot 846 =

Options :
cot” 6
“1
1. =
—coseg” @
. 5
cosec” @
3 3
—cosec’ &
=3 ¢

Question Number : 37 Question Id : 6780944440 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

R .-
* oy
: —
s A=
Options :
™
loe —
1 R
4
log —
A

L3
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—
)
M)

“.u|-f.-rf'3

| |

log —

Question Number : 38 Question Id : 6780944441 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

&

1T ¢ =5 then |

Options :

1

B — ¢

e E}

(14 H

{

-

N

2

e A—

Question Number : 39 Question Id : 6780944442 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

[
Options :
i
1
1
5 -
A | |
1002
3.
T o1
- I '.:I
4. > -

1

&

-1
YAt ATy =

Question Number : 40 Question Id : 6780944443 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

1111

:I:I%'I' I-r'=]_

Options :

1.

:._':'

e (AT
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3
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Question Number : 41 Question Id : 6780944444 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

74
] 5
| sec” vdv =
)
Options :
!
1
28
S
RS-
=
3. 12
]
E
4. 7

Question Number : 42 Question Id : 6780944445 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The area bounded by the curve r=Ilogx. x-axis and the straight line

y—¢ =18 sguare units
Options :
1. €
. fe—1)
.
.
11—
4 %

Question Number : 43 Question Id : 6780944446 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The volume of the solid generated by rotating one arch of the curve
1= 5in3y about the x-axis 15----

Options :

"

.-T_
1
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Question Number : 44 Question Id : 6780944447 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Options :

=3

s 1
—— =5 —
| i A
T

.-:. - [}
A
HTT

=
S
A
IR A N TR
|—7- TI'; +
L e L !

1 =cv—c7 |5 the general solution of tne differential equation

-

- b

Question Number : 45 Question Id : 6780944448 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Options :
T=31re
1.
1= a4
A=+
3.

The general solution of the differential equation

~

i
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Question Number : 46 Question Id : 6780944449 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The differential equation corresponding 1o the famity of curves 1+ = aot
where a and o are arbitrary constants. Is

Options :
(f (71
A
T <Ay
.
(- M
1 — = {}
- l.!;lj-"f; (4
- T i
d-v o (o
-ll. — T
I::':Iql. B - i
3.
AN
— — 17 =]
4 [".J'T.T

Question Number : 47 Question Id : 6780944450 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An Integrating factor of the differential equation

iy Ddv v+ idr =008

Options :

X
5

1

L

e

Question Number : 48 Question Id : 6780944451 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

The differential equation whose solution is 4v~ — B1~.where A.B are
arbitrary constants are of  ----

Options :

| 1% order and 1 degree
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2™ order and1® degree

2™ order and 2™ degree
, 1% order and 2™ degres

Question Number : 49 Question Id : 6780944452 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 T

The general solution of the differential eguation —-4—<=5x=01Is
AT T

Options :

A

V=g cost oy anrle”

L
; . b
o r=ilopcos vt oy SN )T
[ ozs osad T r

N=A0y COs 2oy s T e
3 -

F=iecos 2yt os s Ix)en
& .

Question Number : 50 Question Id : 6780944453 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The particular integral of (=271 =sin 2y is
.
Cors
n

511} o
.

'

—COn

| .0

L

— 511t

|

Plyysies

Number ol Questions: 23
Display Number Panel: Yes
Group All Questions: No
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Question Number : 51 Question Id : 6780944454 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The unit of impulse Is the same as that of
Options :
1 moment of force

lnear momertum

L J

force

.

[Fressidie

Question Number : 52 Question Id : 6780944455 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the force is given by F = at+bt® where t is the time. The dimensions of a and b

dle

Options :

1 MLT™ MLT

MLT™ MLT™

1

MLAT ™, ML“T

)

MLZT™. ML

Question Number : 53 Question Id : 6780944456 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vector parallel to 67 + 87 and having a magnifuae of 5 1s

Options :

| 47 + 3}
127 + 187

1

L.

16: +87

oy

S+ Af

Question Number : 54 Question Id : 6780944457 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f |4 x 5| = K(AB) then angle between 4 and B is

Options : "
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1 cos K

cos  (1/K)

L J

sinK

I

sin”*( 1/K)

Question Number : 55 Question Id : 6780944458 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A cricket ball ts thrown at a speed of 28 mis In a direction 30" above the

narizontal. The maximum neight reached by the all Is

Options :

1 T0 m
. 20m

—

S A0m

.

) 40 m

Question Number : 56 Question Id : 6780944459 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two bodies are projected at angles of 45" and 60 with the harizontal with
same velocity simultaneously. Ratio of thelr horizontal ranges Is

Options :

1 v a2

I_I-II-

2

| 1.2
g 2

L

Question Number : 57 Question Id : 6780944460 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ball thrown by a boy 1s caught 2 seconds later by another at some distance

avway on the same level. If the angle of projection is 30¥, the velocity of

&
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Options :



19.6 misec
1.

- 9.8 misec

4.9 misec

oy

5.7 misec

Question Number : 58 Question Id : 6780944461 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A 200 m wide river flows with a velocity of 5 misec. A man crosses the river In

the shortest time of 25 sec. If there iz no flow and he swims with the same

velocity, the time taken to cross the river s

Options :

oW

— e

13

'|

I

2 sec

L

25 sec

L

o —

2o 2 osen

Question Number : 59 Question Id : 6780944462 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body of mass 1 Kg lies on an inclined plane of angle 80" to the horizontal. If

the coefficient of friction 1s 0.4, the frictional torce along the Inclined plane s

Options :

. 198 N

. 0.98 N
049 N
, 0.245 N

.

Question Number : 60 Question Id : 6780944463 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A force of 20 Kg weight Is required to just slide a wooden box weighing 50 Kg over
ice. Then coefficient of static friction between the surfaces in contact Is

Options :

0.2

&
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0.4
0.8
0.1

Lt

J

Question Number : 61 Question Id : 6780944464 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A cyelist comes to a skidding step in 10m. Durng thils process, the farce on the

cycle due to the road is 200N and is alrectly opposed to the motion. The work

done by the road on the c¢ycle is

Options :

1000 J
- 20004

1

L k!

-1000J

N

- -2000

Question Number : 62 Question Id : 6780944465 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sphere of mass 4 Kg Is dropped from a certain helght. After 3s, its Kinetic

gnergy Is =10 mr‘si)

Options :

. 5
50

5 K

| A

J

UK

Question Number : 63 Question Id : 6780944466 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An elevator weighing 500 kg 1s to be lifted up at a constant velocity of 0.20 m/s.

What would be the minimum power of the motor to be used?

Options :

100 W
500 W

&
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. 980W
300 W

q

Question Number : 64 Question Id : 6780944467 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Al =0, the displacement of a particie In SHM is half its amplituge. lts Initial

phase s (referring to mean position

Options :
it

6
1.

i_lq__;l‘r'—_-l:

|

e

h..n‘:l

Question Number : 65 Question Id : 6780944468 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of seconds pendutum is 100 cm. To have a period half of this valle,

the length 1s 10 be reduced by

Options :

25 om

]

faem

L of

50 om

R

100 om

Question Number : 66 Question Id : 6780944469 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Inside a big hall, the reverberation time Is

Options :

| directly proportional to volume

iInversely proportional o sound absorption

_‘
—

&
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poth airectly proportional to volume

and
Inversely proportional to sound absorption

-
.

) depends on temperature

Question Number : 67 Question Id : 6780944470 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The voice of [lon is different from that of a mosauito becalise

Options :
. the sounds have different pitch

they are of gifferent size

L J

the two voices travel with different ve.acifies

N

the soungs have aifferent phases

Question Number : 68 Question Id : 6780944471 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A caris traveliing at— m/s and sounds horn of freqguency 980 Rz, The

w U

apparent frequency heard by a police chasing the car at lg mis (v IS the velocity

of sound) Is

Options :

1 Y80 Hz

900 Az

100 Hz
, 1000Hz

L A

.

Question Number : 69 Question Id : 6780944472 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhen ice cube melts and becomes water, the ice-water system undergoes a

change such that

Options :

entropy of the system decreases and internal energy decreases
1.

entropy of the system decreases and internai energy ncre

"
- L
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enfropy of the system increases and internal energy increases

-
.

antropy of the system increases and Internal energy decreases
4,

Question Number : 70 Question Id : 6780944473 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A mass of 300 gm falis from a heignt of 3 mig=%.= f‘:“:fﬁz}. Assuming that the
whole energy 1s converted into heat, the amount of eat sroduced 15

Options :

1 2 cal

2.7 cal

_4{:3\

s

| 4.2 cal

Question Number : 71 Question Id : 6780944474 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During an adiabatic expansion of 2 mofes of a ¢gas, the change in internal

energy was found to be egual to 100 J. The work done during the process will

be equal to

Options :

1 FA=] L,

. 100
200 J

I

100 J

Question Number : 72 Question Id : 6780944475 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i

The pressure and density of a diatomic gas { y =§ '] change adiabatically from

i 1
(P.d)to (PLd'). If =~ =32, then — is
Options :

1 128

v 32
&
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2 A3

.

4, G4

Question Number : 73 Question Id : 6780944476 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Bovle's law holds good for an ideal gas during

Options :

. Isobaric changes

Isothermal changes

-
|

ISOChoric changes

L

[SOtopIe chahges

Question Number : 74 Question Id : 6780944477 Display Quecestion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The threshold frequency of metal iIs v.. When a light of frequency 4 v, s

Incident on metal then the K E . Of emitted electrons s

Options :

2 u. N
1

3 ‘.1'|_.'-. h

L

Question Number : 75 Question Id : 6780944478 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

superconductors are materials

Options :

y dielectric

. paramaagnetic

ferromagneiic

.

diamagnetic

Chemustey a
collegedunia:
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Number ol Questions: 23
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 6780944479 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Paul exclusion prnciple 1s coencerned th

Options :

. Energy of orbital.

opin of electron.

L

Energy of electron

I

Angular momentum of electron

Question Number : 77 Question Id : 6780944480 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to Bohr s mode| of hydrogen atom, the following 1s guantized

Options :

1 Lifnear momentum

Linear velocity

L

Anguiar momentum

I

Anguiar velocity

Question Number : 78 Question Id : 6780944481 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many 'd — orbitals have two perpendicuiar nodal planes

Options :

 Two

Thres

|

Four

L

Flye

Question Number : 79 Question Id : 6780944482 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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n sodium chloride crystal. each Na™ ion is surrounded by

Options :

T O 1ons

Faur O ons

4

Sk G 1ons

e

Eignt ClI jons

Question Number : 80 Question Id : 6780944483 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following moleclis contains a 1 — 2ond

Options :

L

HC

Question Number : 81 Question Id : 6780944484 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vifhich among the following is insoluble in water?

Options :
Alcohol

Ammonia

L

Banzensa

I

Acetone

Question Number : 82 Question Id : 6780944485 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The normality of 2.3 M H.50, salution is

Options :
1 U. 46N
.23 N

L

J

. 2.3 N
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, 4.8N

Question Number : 83 Question Id : 6780944486 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3 grams of substance of moleciular weignt 40 1s dissolved 1in 250 g of 'vater. Then the
moiality of the solution 1s

Options :
0.4

1.

. 0.8

3 0.2

, 05

Question Number : 84 Question Id : 6780944487 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The pH vaiue of U.u5M BalOH» solution 1z

Options :

10
12

I A

. 13
11

Question Number : 85 Question Id : 6780944488 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWhich of the following moleculs is not a Lewis Base?

Options :

e

BF-

L J

NH-

o

L

"e

Question Number : 86 Question Id : 6780944489 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During the electralysis of brine, 710 g of Cl. was iberated at anode. The weight of NaQH

formed
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Options :



800

400 g

L

80 g

o

, 4lg

Question Number : 87 Question Id : 6780944490 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

111 the Dannlel cell, «which electrocds acts as anodge’”

Options :
U

1.

. Ad
iy
Pt

4

Question Number : 88 Question Id : 6780944491 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The molar conductance of HZ s more than that of NaCl because

Options :

. Nall 1s maore polar than K

- NaCl s ionic while HCl 1s covalent

lonic mobility of H™ is more than that of Na©

-
.

H™ get hydrated.

Question Number : 89 Question Id : 6780944492 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The units for electrochemical equivalent are

Options :
Jrams=

grams ampere

|

- Coulomi

e

Grams per coulomb

Question Number : 90 Question Id : 6780944493 Display Question Number : Yes Single Line Ohmection (Ontfion * No (Intion

Orientation : Vertical
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Zeclite softening process removes
Options :

Only permanent hardness of “~ater
1.

Only temporary hardness of water

—

Eoth temporary and permanent hardness of wwater

-.

L

| The dissolvad gases In permansnt hard ater

Question Number : 91 Question Id : 6780944494 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The permanent hardness of water 15 caused by the presence o
Options :
Eicarbonates of Ca and Mg

. Carbonates of Na and K

Chlorides and Sulphates 2f Ca and Mag.

L

Fhosphates of Na and K

Question Number : 92 Question Id : 6780944495 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The zecondary treatment of water uses to consume wastes in water,

Options :

Fiitration

Sedimertation

L

Chemicals

e

Microorganisms

Question Number : 93 Question Id : 6780944496 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Difficult to monitor and very dangerous form of corrosion s

Options :
1 salvanic

Fitting

&
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ey ce

-
.

Siress
£}

Question Number : 94 Question Id : 6780944497 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWnen Pt and Co are electrically connected, which one gets corroded?

Options :

e
Pt

1.

L

Nore

; both

N

Question Number : 95 Question Id : 6780944498 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vWhat rubber was invented when Dr. Josepn C. Patrick trnad to make antifreeze?

Options :

1 Methyl rubber

Chloroprens

L

Bruna N

IJ

| Thioksl

Question Number : 96 Question Id : 6780944499 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The first plastic ever synthesized was callec

Options :

| Bakelte

INyion

L

Dacron

L

" Cellulose

Question Number : 97 Question Id : 6780944500 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s a brand of polyester textile finer that is wrinkie resistant and strong

&
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Options :



ellulose

Dacron

L

Eakelte

J

Nvion

Question Number : 98 Question Id : 6780944501 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWater gas 1s a mixture of

Options :

1 H-. + CO
NE-]' (o5

L !

Hg -+ GDE

J

H-+ CHqy

Question Number : 99 Question Id : 6780944502 Display Question Number : Yes Single Linc Qucestion Option : No Option
Orientation : Vertical

Vilhich of the following 12 not a greennouses gasy

Options :

IGE}

COx

L

|

wWaler vapour

)

H4

Question Number : 100 Question Id : 6780944503 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Burning of fossil fuels causes
Options :

Giobal warming
1

Czone depletion

L

- Acid rain

L

Eutrophication

&
@collegedunlas
India’s largest Student Review Platform

i



Number ol Questions: 100
Display Number Panel: Yes
Group All Questions: No

Question Number : 101 Question Id : 6780944504 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

Presence ot LRI 11 Cast e akas 1t hard and brirtle

Options :
Stlicon

NMangausss

L

Sulphur

)

Phospliorus

Question Number : 102 Question Id : 6780944505 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Cralvanization means coatilg of o11 the ron and steel alzjects.
Options :
. Carbon
_ Chrominm

Eubber

.

Zie

Question Number : 103 Question Id : 6780944506 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Blast fimace produces b reduction of gon ore

Options :
ast Iron
Wrought won

-

Pig 1ron

L

A Ialleable wron

Question Number : 104 Question Id : 6780944507 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The rato of the volmne occupied by the atoms to the total volume ot the v cell

15 callsd
Options :

Aromc paclmer tactor
1. ‘

Space lattice

L J

. Coorchiation number

All of the aboyve

Question Number : 105 Question Id : 6780944508 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Constantan 1s an allov of

Options :

Coppar and tin

Copper and mckel

|

Copper and wron

L

Copper and zmc

Question Number : 106 Question Id : 6780944509 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Example tor sl amorphous maternal

Options :

Crlaes

Si].'fEl'

L

Sica

I

[ead

Question Number : 107 Question Id : 6780944510 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Percentagz ot S 11 50 15
Options :

20

2

&
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Question Number : 108 Question Id : 6780944511 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

Ropp’s mile 13 conceruad with the caleulanion ot

Options :

Thermal conductiviry
1.

Heat capaciry

L A

ViR COoSITY

L

Surince rension

Question Number : 109 Question Id : 6780944512 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

With rise i pressuwe. the solubility of gases m colvent. ar a fixed temperanys
Options :

Dlectensas

Eemaus unelianzad

" —

-'

Dlecrease lmearlv

L

Hlorenses

Question Number : 110 Question Id : 6780944513 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A solution 15 made by dissolving 1 kilo mole of solute m 2000 kg of solvent. The

molalitv of tle solunon 1.

Options :

5.3
1.

]

-

Lo
-2

g |

Question Number : 111 Question Id : 6780944514 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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Average molecular weaizlit of air is about



Options :

[ =1
s A7
ELS;
g ok
74
P

Question Number : 112 Question Id : 6780944515 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Avozadro munber 1s the numbezr ot wclzcules m one ot a zas,

Options :
(1AL

| Lime

L d

Iilo gram

L

Crrailn mnole

Question Number : 113 Question Id : 6780944516 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

10 = each of the methane and oxvazn arg unxed 1o an enPptv Contaul= malntaned

- : ; . :
at J07C, The fracrion of the toral pressure exarted by oxvaen 1s

Options :
[},

' Ay

o
M

L

L

Question Number : 114 Question Id : 6780944517 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. . ' . . |::'| .
A suzar solution contamung percent sugar 15 eguivalant 1o 17 Brix

Options :
1

L L

(3,1

Lo
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Question Number : 115 Question Id : 6780944518 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

—_

The wvapor pressures of benzene and tolnene are 3 and 1.3 abmospherss
respectivelv, A ligwmd feed of 0.4 moles of henzene and 0.6 meles of tolusns 15
vapourized, Assunung that the products are m equilibrint, tlie vapor plhase mole

fraction ot henzene 14

Options :
U4
A |
. D6

13
. 3.5

Question Number : 116 Question Id : 6780944519 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Nvlon-o s manuiacturad trom

Options :

adipie acutd and hexamethvlene diamme.

webasic acud and hexomethivlene dinnune

_ caprolactun,
.
; malewr anlivdride and hexamethvlene dianune

Question Number : 117 Question Id : 6780944520 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Cellulose 1+ the mat codlstnent of 1101 fibers,
Options :
Acrvlic
1
Svnthetic
_ Sephadex
i
] Natnral

Question Number : 118 Question 1d : 6780944521 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the tollowmez 15 10t a coal chenuecal?

Options :

Methanol
1. :
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SBR

_ Ethvlene
.
) Forawaldelvde

Question Number : 119 Question Id : 6780944522 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Petroleum i¢ a complex. natwaliv cocyting Harid mxiire contaiuing niestly

Options :

Hyvdro carbons

1.

- Carbolivdrates
3 L vEe

A Sulpding

Question Number : 120 Question Id : 6780944523 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

are the matenals, wiel: are added w1 deterzents to alizr ther plivsical

clinracterstics and propertes.

Options :

Deterzant tillers
1.

Detergant bulders

|

Detergeant hoosters

]

Detergent activators

Question Number : 121 Question Id : 6780944524 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Catalvat used m gasoline production 14

Options :

. HC]

HEE{:}_}

L

)

KOH

Question Number : 122 Question Id : 6780944525 Display Question Number : Yes Single Line

Orientation : Vertical
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Country that produces the mnoest papar & papear board 13
Options :

1 linia

Japat

L

USA

[

Canada

Question Number : 123 Question Id : 6780944526 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Largest sugar producing state 11 Jundia ::

Options :
b aritatala

Maliarasiitra

. Tamlnacdn

s

[ rrar Pradesh

Question Number : 124 Question Id : 6780944527 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Prillmig tower 15 toand mn the flow slier for the manutacmre of

Options :

1 A 1311103115

Superphosphate

-
1

[1iple snperpliosphate

L

T e

Question Number : 125 Question 1d : 6780944528 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Wlieh of the tollovwing 15 not a ¢lienucal process mvolved m the removal of
coninnancs roni warer”

Options :
| Filtranon
Plrsintection

I

Coaonlanon
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Flocoulation

Question Number : 126 Question Id : 6780944529 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Both remporary and parmanent harduess of water can be removed by

Options :

1 Boilimng

Decanration

L

Dyesnallarnion

)

Filtrarion

Question Number : 127 Question Id : 6780944530 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What substance nuis dovn the absorphion tower m DDA proceass of swihwie
actcl manafactge,

Options :

1 Sulfur diovde

Suilfir trioxicle

LJ

Saituric acid

L

Woater

Question Number : 128 Question Id : 6780944531 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Noan drving oils con be used w paints. for

Options :

1 Fast drving

-
]

Slow diving

L

Actrvare chienneal reactioi

)

,  Flexibaliry

Question Number : 129 Question Id : 6780944532 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Pizmient. whicli dissolves i a binder is called

Options :

Lacguer
1.
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IBANC

. Yarush
Solura
4.

Question Number : 130 Question Id : 6780944533 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A Counfry con be started as more dzvziopscl i1 s unthizing wvhach of the
tolloviing chemical nore?

Options :

1 Sulphurie Acid

witrice Acid

|

Acenic Acuid

L

Benzoie Acd

Question Number : 131 Question Id : 6780944534 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Maror componeant of ceniant

Options :

1 “Slies

Time

4

2 lumiana

)

Magnesin

Question Number : 132 Question Id : 6780944535 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The head loss in mrbulent flow 15 proportienal

Options :

1 Velocity

Diann=ter

L

e

Cvelocireis

e

B,

(Diainetari™
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Question Number : 133 Question Id : 6780944536 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A Wetwtomian thud s detined as the flued which

Options :

1 Ob2vs Hook s law

Obevs Frek's law

—
|

Ohavs Newton's law of viscosiy

I

Obayvs Fourier's Law

Question Number : 134 Question Id : 6780944537 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fevnolds number s1cuities the rat:e of

Options :

ravity torce to viscous forces

miertial forces to viscous Iorces

L

inertia forces o graviey torces

I

buovant forces 1o m2rta foreeas

Question Number : 135 Question Id : 6780944538 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Wlich of the followiing 15 a hivdrodvaamee pump”

Options :
hoddlic Pl
1.

centrifueal poip

—
|

AT PUIELLD

I

[15T0O1L PIULR

Question Number : 136 Question 1d : 6780944539 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Whacii one ot the fellovwimg helps m avording cavitation w1 centritugal punips”?
Options :

Losw auciion pressura

Hizgh delivery pressure

L]
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Low delrvery pressie

&
.

High suction pressure

Question Number : 137 Question Id : 6780944540 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

Loentirl meters ave

Options :
1 Hrzh head loss, low co-2itrcient o discliarzs and suaall siz:

low hiead Ioss, low co-affcient of discharge and large size

L

low hiead loss, lugh co-etticisnt of dosoiargs and orae a1ze

!_-.-

.. | : L . - -

High head loss, lona co-etficient o7 dhschiarys and Inizs w1z

"

Question Number : 138 Question Id : 6780944541 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fhud 15 a substance which oifers no resistance to change of

Options :
Shape
1.
~ Pressure
. Temperanurs
.
Volume
4,

Question Number : 139 Question Id : 6780944542 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Falling drops of warer become sphieres due 1o the propertv ot

Options :

1 Compressthliry
i WIsCosIry

~ Surtace rension
&

" Coliesion

Question Number : 140 Question Id : 6780944543 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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For the transter of powdered material, best conveavor 1s




Options :

MCTEW COIVEVOD

I

CTiam convevor
~ Belt comvevor
.

Wheel convevor
g,

Question Number : 141 Question Id : 6780944544 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The bodv which absorbs all racianons mexdent upoi 1f. 1+ caliad as

Options :
1 Black body
Wiite body

Opague hody

I

Transparent body

Question Number : 142 Question Id : 6780944545 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Thermal conduetivity s e fon

Options :

1 Asphalr

ok

L

Water

e

4 _'—1"1._.11'

Question Number : 143 Question 1d : 6780944546 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Grashot number 1s proporfional to
Options :

the ratio of viscous force o huovancy torce

th2 rano of uovancey force to elastic tores

-'

the ratio of buovaney force to viscous force

L

&
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the ratio of viscous ftorce o wertinl torce

Question Number : 144 Question Id : 6780944547 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Whiar 15 Pracutl mmuaber?

Options :
-
sl
i
1.
1
R
e
“
i 'I:F'
L
3.
o L
II-I
4.

Question Number : 145 Question Id : 6780944548 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tlhie ratio of enargy transterved by convection o that v conduction s called

Options :

Srautoll nunibhat

Nsselt nuniher

'

Biot mmuunler

I

Peclat munhber

Question Number : 146 Question 1d : 6780944549 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tts for thermal conductity

Options :

, JThgK

J-mol K

L

- )
T.olin sec Il

oy

eI
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Question Number : 147 Question Id : 6780944550 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A [axinuin hear rranster rare s achiteved 1n flos-

Options :

1 Tubalent

Co-crannt

|

{olniter current

Lo

. [ amunar

Question Number : 148 Question Id : 6780944551 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

L=

With merease 1 temperamye, the surface reuston of watar

Options :
1 NICreases
degreqsas

-

rENAa15 saIne

e

|

frst micrsases Up to a certam temparatine and tiisn become constant

Question Number : 149 Question 1d : 6780944552 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The rate ot heat transter 15 a product of overall hear transter co-atiicient. the
ditterence w temperatire and the

Options :

1 Heat transtar aran

Heat rranster volune

L

Nlsselt munber

I

Velociry

Question Number : 150 Question Id : 6780944553 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Value of XNusselt auumber [ Nu = thDd ki tor the heat franster by conduethion from a

droplet or a spherical pacticle 10 a surrounding stagnant il s

Options :
| LoD

-~ LU
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L3

L
g

.

Question Number : 151 Question Id : 6780944554 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Wliteh of the tollowmz 15 a pressure filter”

Options :

Rotary down tilter
1.

Plate and frane filrer

Sand filter

I

Leaf filteridioore f1lter”

Question Number : 152 Question Id : 6780944555 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

15 flre conunonly nsed hilter ard’

Options :
Yerneudite

Fuller's earth

-

Priatomacsonus eqirh

!_-.-

Senit plastic clav

Question Number : 153 Question 1d : 6780944556 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Crravcity sattlmg process 15 nor mvolved m the working ot o

Options :

1 Eividin evelong
Secientation tandk
Diomr-thickener

3

. Classitier

Question Number : 154 Question 1d : 6780944557 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Trommels separate a nusture of particles dependimz on thenr

Opti : 2
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Wetability

1.

Flactrical and maznetic properias

Drensiry

I

S1Ze

Question Number : 155 Question Id : 6780944558 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Basic slag s not gromad

Options :

Tule 1111ls

Ball ualls

Tavw crushiera

L

Comprarinient nulls

Question Number : 156 Question Id : 6780944559 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Grindability of a material does not depand Gpon 1is

Options :

1 Fouglhness
Elasticity
Bardiess
3
4 =

Question Number : 157 Question Id : 6780944560 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Screetl capaciiy 1s ot a uchon of

Options :

Atmospheric hinmdirey
1.

Sereenmg swtace

'

Screanng meclinnisn

I

Its openigs s1ze

Question Number : 158 Question Id : 6780944561 Display Question Number : Yes Single Line

Orientation : Vertical )
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S1ze reduction i a Hannner null s done by the SCTLOM,

Options :
[ arrinon

pact

—
|

VRN f=t8) 1011

Lo

CETLY

Question Number : 159 Question Id : 6780944562 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For anyv svstenr. what 15 the manmnm ciunber of dearees of traedom?

Options :

LI

L
l_l

1.}

L

r_IJ_..

Question Number : 160 Question Id : 6780944563 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

LThrortling process 15 a an DErOCESS,

Options :

1 raversible and izothiermal

reversible and constant enfropy

4

irreversible and consrant enthalpy

e

reversible and constant enthalpy

Question Number : 161 Question 1d : 6780944564 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i anwdeal zas mxnive. tneaciry of a species s aqual to its

Options :

1 Partial pressie

N APOr pressure

L

Clhienueal porenial

L

Dlensiry

4.
&
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Question Number : 162 Question Id : 6780944565 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Cp - Cy. for an 1deal gas 15 equal 1o

Options :
R.2
1. =
3 R
A
g -
AR
4.

Question Number : 163 Question Id : 6780944566 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

A reingerator works on the prncipls oi b o thermodsuamics.

Options :

Zerotl
1

Fiest

LA

- Second

.

Thed

Question Number : 164 Question Id : 6780944567 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The exeess energy of reactants 1w a chemncal reaction required to dissociate nito

products 15 terned as the ener sy,

Options :
| AcFIvAaTiol

potantial

Lt

banding

Lo

threchold

Question Number : 165 Question Id : 6780944568 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A reaction i which one of the products of reaction acts as a catalvst 13 called a an
e o,

Options :

[ cata yTEC

autocaralyiie

1
&

@collegedunlas

India’s largest Student Review Platform

i



_ photoclienical
.

data gentticient
2l

Question Number : 166 Question Id : 6780944569 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

The unirs of requency tactor w1 Arrllenius eqilation

Options :
are saine as twese of the rate constan:,

-

depend on tempearature, preseurs 26¢, of the ra2acnon

depend on the order of the reacnon.

I

are cveles per uatr tine,

Question Number : 167 Question Id : 6780944570 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A catalvse
Options :

1111riares g reaction.

lowrers the activation ensrgy of reacting molecules

. 15 capable of reacung with any one of the reactanrs,
caunot be recovered chienncally nnchanged at the end of a chemeal
1240 TLOL.

A

Question Number : 168 Question I1d : 6780944571 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I an exothernnce chenucal reaction. the reactants compared to the produacts Liave

Options :

1 less energy

SIS SISl EY

L

I0ES Sl &Y

!_-.-

higher rtemperanrs

Question Number : 169 Question Id : 6780944572 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Favleizh equation applies 1o di=nllanon.

Onpti : o
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1 lecnlsr
iy

tHlash

L

=TE a1l

o

ditterential

Question Number : 170 Question Id : 6780944573 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The relantve volaulity requured for separation of a non-ideal Tatary mnxture by
distillation shwould be

Options :
U
]
]
3.

- 1
4,

Question Number : 171 Question Id : 6780944574 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

With wicrease w1 Temperatire, the mmtoal solubudity of too liguuds

Options :
Plecreases

lcteqses

L

. Eetnomas consrant

-

Dlecave expon=niallv

Question Number : 172 Question Id : 6780944575 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The bimarv dithostoine m zases aud ligmds vary respecively as
Options :
3]
i 17 and T
PR EX Rt
Tand T

1 2 10
"7 andT
.
X .
g T>= and TV
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Question Number : 173 Question Id : 6780944576 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Drving oparation uder vaciniun = cartied out to

Options :
div materials having hagh bound moistare content,
1
. div those matenals which have ~arv Iz nnbownd mosnwe content.
~uerense dryving temperanire.
.
. raduce drvimng tempearature.

Question Number : 174 Question Id : 6780944577 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Solutions wlueh disrll withons chaness i composifzon: arz2 called

salutions.
Options :

 ldeal

Sanrared

L

=per satated

Lo

AZealIopPIC

Question Number : 175 Question Id : 6780944578 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Gasas diffuse faster compared o ligquds because of the reason that the hiqmd melecules

Options :

are leld tozethar by stronger inter-molecular forces
1. i

Nlowe thsrer

-'

have no defiute shapse

I

are lleavier

Question Number : 176 Question Id : 6780944579 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Shierwood imuniber 1 4 tatio ot
Options :
diftusion mass tratister to the convecrive ass manster

1
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COLVaCctive 113ass ranstfer 1o the dittusion mass transter

N

thennal mass transter (o the dithision miass trallster

I

diftusion niass tratsier wo the thepnal mass mansfer

Question Number : 177 Question Id : 6780944580 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Extractor most sumtable for exmaction oo svsten homng very low denstty

diti=rence 1s
Options :
Mver-cattler exrractol

Puls=d extractor

Packed extracrion iower

L

Centithugal extractor

Question Number : 178 Question 1d : 6780944581 Display Question Number : Yes Single Lince Question Option : No Option
Orientation : Vertical

Wlnch of rhe followmg temperanus mmeasunng wstnunsnts ne=d nor touch the
object whose temperanare 15 bemg measured 7

Options :

Fadiation infrarad pyvrometar
1. '

Filled svatem thenuometer

Aercurv i glass thernmometer

L

Thermo slectric pyrometer

Question Number : 179 Question Id : 6780944582 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fesponse of a svstem to a sinusowdal wnpat 1: called 1250152,

Options :

Impnlee
1

Lot step

-'

Fraguency

oy

&
@collegedunlas
India’s largest Student Review Platform

i



Serp
1

Question Number : 180 Question Id : 6780944583 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Which of the fellovwime 15 a3 mmdesirable dyvnamic characteristic of A mstriunait 7

Options :

Repraducibility
1.

Tieacd zidie

| 2

SIatie error

L

Tme lag

Question Number : 181 Question Id : 6780944584 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Wlich of the tollowimg 1s & first order svitem
Options :

hiteractig svstelll of BTvo 1Al 113 521128,

Nercwy i zlass thermeometar Kept 1 bolmeg water,

L

Damyped vibrator,

L

Non-miteracting sveter of two tanks o series,

Question Number : 182 Question Id : 6780944585 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Yenhir: mater 15 a isiel

Options :
varialble area
1.

. variable head

ATl Aren

1

crarte 1ead

Question Number : 183 Question Id : 6780944586 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

controller has the least maxnnun Jdeviation.

Options :
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Question Number : 184 Question Id : 6780944587 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Alercury thermometer can be used 1o measiwz thie tanperanws up 1o i

Options :
(LG

2 A0

A50)
3,

3
g U

Question Number : 185 Question Id : 6780944588 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

(ras chiromatrozraphy 15 used for the measurement of

Options :
Femperamra
1.
Pressure
Corceniration
3

Flow rate

Question Number : 186 Question Id : 6780944589 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Particulates (= lum size) remamng suspended 11 aw mdetinirely and transported
by wind currents are called
Options :

i) =

. tnles

1

IR

)

qerosols

Question Number : 187 Question Id : 6780944590 Display Question Number : Yes Single Line

Orientation : Vertical
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Turbidety of wwater 15 an wnchication of the presence ot

Options :

-

dissolved soliuds
suspended Morgaiie Marter
tloatng solids

chissolved zases

Question Number : 188 Question Id : 6780944591 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Temporary hardness s causad due to

Options :

L J

Aagnesmun carbouate

Calcium sulphate

Nagnesmun sulphate

L

Mamiesnun chloride

Question Number : 189 Question Id : 6780944592 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Water pollunon 15 prumanly coused by

Options :

torest fires

voleanlc eryrions

L

!_-.-

lological decay

1AL ACETVIIES

Question Number : 190 Question Id : 6780944593 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Layer of atmosphere that absorbs ulfraviolet ravs from S 15 callaed

Options :

troposphere

1

L

ozone laver

thermospheres

e

~

i
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masosphere

Question Number : 191 Question Id : 6780944594 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Prolilem of sohid waste disposal can be reduced through

Options :

recyeling
1

lesser pollunon

_|I
raml]

11100e tinher

!_-.-

population control
3.

Question Number : 192 Question Id : 6780944595 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Indian Parhiament passed the Biologzical Dirversity Act 1 the venr

Options :

EIRIHIN,

G2

'

20

oy

4 2006

Question Number : 193 Question 1d : 6780944596 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

15 the least pollurmg huel for velucle

Options :

1 Merosenes
Petrol

o Dhese]

k2 i
e

4

Question Number : 194 Question Id : 6780944597 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The tusl nwed mw the nuclear reactor 15

Options :

Cachnium
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Question Number : 195 Question Id : 6780944598 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The niam constituent of natural gas i3
Options :

vl

Hyvdrogen

—
|

ethane

I

Carbon dioxide

Question Number : 196 Question Id : 6780944599 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1= o1 a tossil uel,

Options :

1 Coal

Natural zas

“

Petrolenin

L

Wind energy

Question Number : 197 Question Id : 6780944600 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Crtar commbustiont cligmber of blast furnace stove 15 lmed with lticks.

Options :

Z1PCOILED

Fireclav

L

Cluome Maznesite

L

Stlieq

Question Number : 198 Question Id : 6780944601 Display Question Number : Yes Single Line ™
Orientation : Vertical
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The tunction of moderators 111 uclear reactor 15 1o

Options :

Slow down the secondary 1121110118

L.
Absaorb the secondory nevtrons
Spreedup the secondary neufrons
3
Control the cliam r=action.
4

Question Number : 199 Question Id : 6780944602 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

15 hest suuted o extmiomes g oo or flasncaable aograd tive,

Options :
Sodda acd
1
Vaponzing liguid
- Foomn
.
; Drv chemical

Question Number : 200 Question Id : 6780944603 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Whach of the following is very poisonons gas 7

Options :

. CO;

M4

|

E!:

e

o
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